10T Questions and Answers — Arduino

This set of IOT Multiple Choice Questions &
Answers (MCQs) focuses on “Arduino”.

1. How many types of arduinos do we have?
a)5

b) 6

c) 8

d) 6

View Answer

Answer. ¢

Explanation: There are 4 Arduino boards and 4
Arduino shields that fit on top of Arduino compatible
boards to provide additional capability like
connecting to the internet, motor controller, LCD
screen controlling etc.,.

2. What is the microcontroller used in Arduino
UNO?

a) ATmega328p

b) ATmega2560

c) ATmega32114
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d) AT91SAM3x8E

View Answer

Answer: a

Explanation: ATmega328p is a microcontroller which
is 32KB of flash ROM and 8-bit microcontroller.

3. What does p refer to in ATmega328p?
a) Production

b) Pico-Power

c) Power-Pico

d) Programmable on chip

View Answer
Answer: b
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Exﬁlanation: Picopower technology employs
advanced features like multiple clock domains, DMA
and event systems to minimize power consumption.

4. Arduino shields are also called as
a) Extra peripherals

b) Add on modules

c) Connectivity modules

d) Another Arduinos

View Answer
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Answer: b

Explanation: The Arduino boards can connect with
add- on modules termed as shields. Multiple, and
possibly stacked shields may be individually
addressable via an 12C serial bus.

5. What is the default bootloader of the Arduino
UNO?

a) Optiboot bootloader

b) AIR-boot

c) Bare box

d) GAG

View Answer

Answer: a

Explanation: The optiboot bootloader will take 512
bytes, leaving 32256 bytes for application code. Due
to its small size larger up-loadable sketch size is
achieved.

6. Does the level shifter converts the voltage levels
between RS-232 and transistor-transistor logic.

a) True

b) False

View Answer
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Answer: a

Explanation: Level shifters are used in multi-design,
different blocks work on different voltage levels. So
when a signal passes from one voltage domain to
another voltage this is needed particularly when a
signal passes from low level to high level.

7. Which is the software or a programming language
used for contralling of Arduino?

a) Assembly Language

b) C Languages

c) JAVA

d) Any Language

View Answer

Answer: d

Explanation: A program for Arduina can be written in
any programming language for a compiler that
produces binary machine code for the target
processor.

8. Do Arduino provides IDE Environment?
a) True

b) False
View Answer
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Answer: a

Explanation: It includes a code editor with features
as texti cutting and pasting, searching and replacing
text, automatic indenting, brace matching, syntax
highlighting, and provides simple one-click
mechanism to compile and uplaod programs to an
Arduino board.
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9. A program written with the IDE for Arduino is
called

a) IDE source

b) Sketch

c) Cryptography

d) Source code

View Answer

Answer: b

Explanation: Skelches are saved on the
development computer as text files with the file
extension .ino. Arduino software (IDE) pre-1.0 saved
sketches with the extension file .pde.

10. Arduino IDE consists of 2 functions. What are
they?
a) Build() and loop()
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b) Setup() and build()

c) Setup() and loop()

d) Loop() and build() and setup()

View Answer

Answer: c

Explanation: Setup() is called once in the program
when a sketch starts after power-up. It is used to
initialixe variables, input and output pin modes, and
other libraries needed in the sketch.

Loop() is used after setup() been called, function
loop() is executed repeatedly in the main program. It
controls the board until the board is powered off or is
reset.

11. How many digital pins are there on the UNO
board?

a) 14

b) 12

c) 16

d) 20
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Answer: a

Explanation: It has 14 digital pins input/output pins of
which 6 can be used as PWM output, 6 analog
inputs, a USB connection, a power jack, a reset
button and more.
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12. board allows sewn into clothing.

a) UNO

b) RedBoard

c) LilyPad

d) Mega

View Answer

Answer: c

Explanation: LilyPad was creatively designed with
large connecting pads and a flat back to allow them
to be sewn inta clothing with conductive thread.

13. How many analog pins are used in Arduino
Mega board?

a) 16

b) 14

c) 12

d) 8

View Answer

Answer: a

Explanation: It has lots of digital input/output pins, 14
can be used as PWM output 16 analog inputs, a
USB connection, a power jack, and a reset button.
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14. Which board is first to use microcontroller within
build USB?

a) LilyPad

b) UNO

c) RedBoard

d) Leonardo

View Answer

Answer: d

Explanation: The Leonard is Arduino’s first
development board to use one microcontroller with
built-in USB. This means that it can be cheaper and
simple, And also, code libraries are available which
allow the board to emulate a computer keyboard etc.

15. are pre built circuit boards that
fit on top of Android.
a) Sensor

b) Data types

c) Breadboard

d) Sheilds

View Answer

Answer: d

Explanation: Shields are pre- built circuit boards that
fit on top of board and provide additional capabilities
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like controlling motors, connecting to internet,
acayiding cellular etc.

9

T6. What is the use of Thermostat in Nest
Thermostat E?

a) Save energy

b) Show the use of energy

c) Supports in some devices only

d) Won't work at some conditions

View Answer

Answer: a

Explanation: The thermaostat controls half of our
energy bills. Independent studies shows that Nest
saved people an average of 10% to 20% on heating
and 15% on coaling.

17. What is the main function of Nest Thermostat
E?

a) Change the temperature only when we are at
home

b) Reduce the energy used

c) Change the temperature from anywhere
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d) Powers off when a person is not present

View Answer

Answer: c

Explanation: Its energy saving feature can help in
save from day one. And with the nest app we can
change the temperature from anywhere-the beach,
the office or the bed.

18. It displays when you are close.
a) True

b) False

View Answer

Answer: a
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Explanation: The frosted display blends into the
background. It shows only when your close, and
fades into the background when you walk away.

19. Does HomePod allow voice controlling?
a) True

b) False

View Answer

Answer: a

Explanation: HomePod is a smart speaker that
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focuses on playing music and allows users to control
the device via voice using Siri.

20. Function of huge light bulb?

a) To reduce energy and to control lightning

b) To create lighting scenes based on your favourite
photos

c) To reduce energy and to create lighting scenes
based on your favourite photos and to control
lightning

d) To controlling lightning and to create lighting
scenes based on your favourite photos

View Answer

Answer: ¢

Explanation: A single bridge will let you control up to
50 bulbs and you will be able to create lighting
scenes based on your favourite photos. Obviously,
the lightning is controlling from your smart phone or
tablet. They are said to help use of 80% less energy
than our traditional bulbs.
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21. What is the drawback of using Lockitron?
a) Wastage of more energy
b) Supports in some devices only
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c) Won't work at some conditions

d) Tough installation

View Answer

Answer: b

Explanation: Lockitron is a device which ensures key
less entry inside our home using our home. We can
also monitor to see if the door is locked. And if not it
will send a notification when it is unlocked. The
drawback is that it will work only with iphone 4s or
iphone 5.

22. Sonos is a system that uses
wireless speakers.

a) Wifi

b) Hifi

c) Zigbee

d) Bluetooth

View Answer

Answer: b

Explanation: Sonos is a system of Hifi wireless
speakers and audio components that combines all
your music collections, radio or podcasts in a single

app.
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23. What is the facility Sonos provides?

n here only to a restricted area

provides high quality 3D audio
13 ly
Il connectivity

d) Choose to play what you want in different rooms
View Answer

Answer: d

Explanation: We can choose to play what you want
in different rooms by using a dedicated wireless
network. Sonos has got a wide collection of products
for music fans, from speakers to sound bars, so
head.

24. Smart Fitness clothing mainly has which
device?

a) Battery

b) Bluetooth

c) Sensors

d) Internet

View Answer

Answer: C

Explanation: Each garment has a built in sensor
which measures muscle activity using
electromyography. This information is relayed to the
“IRON MAN" hub, which we can attach to our leg or
chest.
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25. What are Revolv means?

a) In built programming of all devices

b) Movement of device

c) A simple robot

d) Bringing all devices under a single command
View Answer

Answer: d

Explanation: Revolv is a platform that brings more
devices together under a single command centre.
We can control the lightning in our room our Apple
TV, heating and much maore.
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a) In built programming or all aevices

b) Movement of device

c) A simple robot

d) Bringing all devices under a single command
View Answer

Answer: d

Explanation: Revolv is a platform that brings more

ces together under a single command centre.
14 n control the lightning in our room our Apple
eating and much more.

26. Which one is not an element of 0T

1. People
2. Process
3. Security
4. Things

27. Which is not true about GainSpans GS2000
Protocol

1. GS2000 Protocol is for Internet of Things (loT)

2. GainSpans GS2000 tech uses only ZigBee

3. GainSpans GS2000 is one such tech which
used both ZigBee and Wi-Fi
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4. It makes optimum use of power by putting the
device into energy-saving standby mode when
no data transmission is taking place

28. What risks and challenges should be
considered in the Internet of Everything?

1. Privacy and Security
2. Energy Consumption
3. Network Congestion

4. All of the above

29. Bluegiga APx4 Protocol supports

Only BLE
Only WiFi
Both BLE and WIFi
None of the above

el
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30. What us lloT ?

Information Internet of Things
Industrial Internet of Things
Innovative Internet of Things
None of the above

N
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31. Who invented the term the Internet of
Thimgs?

1. Bill Gates

2. Kevin Ashton
3. Steve Jobs
4. McDonald

32. The huge numbers of devices connected to
the Internet of things have to communicate
automatically, not via humans. What is this
called?

1. Botto Bot (B2B)

2. Machine to Machine (M2M)
3. InterCloud

4, Skynet

33. Who said this? The internet will disappear. There
will be so many IP addresses, so many devices,
sensorsa€; that it will be part of your presence all the
time. Imagine you walk into a room and you are
interacting with the things going on in there

1. Facebook Founder Mark Zuckerberg
2. Microsoft Chairman Bill Gates
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17 Google Chairman Eric Schmidt
Late Apple Founder Steve Jobs

34. What is the size of the IPv6 addressed ?

1. 32 bits
2. 64 bits
3. 128 bits
4. 256 bits

35. What is the name of the first recognized loT
device ?

1. Smart Watch
2. ATM

3. Radio

4. Video Game

36. is being used by
Internet of Things

1. Radio identification technology
2. Satellite

3. Cable

4. Broadband
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37. best describes the
MQTT protocol

1. Machine-to-Machine (M2M)
2. Publish / Subscribe

3. Request/ Response

4. Mesh Networking
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W
37. best describes the
MQTT protocol

1. Machine-to-Machine (M2M)

Request / Response

= Publish / Subscribe
18
Mesh Networking

38. The Intemet of Things will run on many
communication standards. Which of these is not a
standard body or protocol?

1. Zigbee
2. AllSean
3. Tyrell
4. Z-Wave

39. When was the term loT first coined?

1998
1999
2000
2001

B Wi 2
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40. When did loT devices surpass people in
number?

1. 2005
2. 2006
3. 2007
4. 2008

41. How many key features must an loT device
have, according to The Internet of Things Global
Standards?
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1.
2.
3

o~ O

4
42. The Internet of Things will run on many

communication standards. Which of these is not
a standard body or protocol?

Zigbee
AllSean
Tyrell
Z-\Wave

N -
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43. Which is not one of the features of Internet of
Things devices ?

1. remotely controllable
2. programmable
3. can turn themselves off if necessary

A

all are features
20 \-iow many devices are estimated to be
nected to the Internet of Things by 20207

1. _approx.. 2 million

2. approX.. 20 million
3. approx.. 75 million
4
5

approx.. 100 million

45. This alliance is composed of 20 world
technology leaders working to develop standards
and protocols for device communication

1. AllAboard

2. AliConnected
3. AllDevyce

4. AllJoyn
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46. allows us to control electronic
components

a) RETful API

b) RESTful API

c) HTTP

d) MQTT

View Answer

Answer: a

Explanation: RETful API that allows us to contral
electronic components connected to our Intel Galileo
Gen 2 board through HTTP requests.
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47. MQTT stands for

a) MQ Telemelry Things

b) MQ Transpart Telemetry

c) MQ Transport Things

d) MQ Telemelry Transport

View Answer

Answer: d

Explanation: MQTT was known as MQ Telemetry
Transport protocol. MQTT is a lightweight protocol
that runs on top of the TCP/IP protocol.

22
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48. MQTT is better than HTTP for sending and
receiving data.

a) True

b) False

View Answer

Answer: a

Explanation: We want to send and receive data in
real time through internet and RESTful APl is not the
most appropriate option to do this. Instead, we will
work on MQTT which is lighter than HTTP.

49. MQTT is protocol.

a) Machine to Machine

b) Internet of Things

c) Machine to Machine and Internet of Things

d) Machine Things

View Answer

Answer: c

Explanation: The MQTT protocal is a machine to
machine and Internet of thing connectivity protocol.

50. Which protocol is lightweight?
a) MQTT
b) HTTP
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ANsSwer. C
Explanation: The MQTT protocol is a machine to
machine and Internet of thing connectivity protocol.

50. Which protocol is lightweight?
a) MQTT
b) HTTP
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c) CoAP

d) SPI

View Answer

Answer: a

Explanation: MQTT is a lightweight protocol that
runs on top of the TCP/IP protocol and works with
publish subscribe mechanism.

51. PubNub publishes and subscribes

in order to send and receive messages.

a) Network

b) Account

c) Portal

d) Keys

View Answer

Answer: d

Explanation: It is necessary to generate our PubNub
publishes and subscribes keys in order to send and
receive messages in the network.
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52. By clicking which key the PubNub will
display public, subscribe, and secret keys.
a) Pane

b) Demo Keyset
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c) Portal

d) Network

View Answer

Answer: b

Explanation: Click on Demo keyset pane and
PubNub will display public, subscribe, and secret
keys. We must copy and paste each of these keys to
use them in our code that will publish messages and
subscribe to them.

53. The messageChannel class declares the
class attribute that defines the key

string.

a) command_key

b) command-key

c) commandkey

d) Key_command

View Answer

Answer: a

Explanation: The messageChannel class declares
the command_key class attribute that defines the

key string that defines what the code will understand
as the command.
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54. method saves the received
arguments in three attributes.

a) __ Init

b) Init__

c) __Init__

d) _init_

View Answer

Answer: C

Explanation: __Init__ method saves the received
arguments in three attributes with the same names.

25 | and saves the publish
orrd Subscribe keys that we have generated with

the PubNub Admin portal.

a) public_key and subscribe_key

b) Public-key and subscribe-key

c) publickey and subscribekey

d) Key_public and key_subscribe

View Answer

Answer: a

Explanation: Then, the constructor declares two
local variables: public_key and subscribe_key.
These local variables save the public and subscribe
keys that we had generated with the PubNub Admin
portal.
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56. specifies the function that will be
called when there is a new message received
from the channel.

a) Reconnect

b) Error

c) Connect

d) Callback

View Answer

Answer: d

Explanation: The call to this message specifies
many methods declared in the MessageChannel
class

Callback: specifies the function that will be called
when there is a new messane received from the
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57. specifies the function that will be
called on an error event.

a) Callback

b) Error

c) Connect

d) Reconnect

View Answer

Answer: b

Explanation: The call to this message specifies
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many methods declared in the MessageChannel
class

Error: specifies the function that will be called on an
error event.

58. Specifies the function that will be
called when a successful connection with the
PubNub cloud.

a) Callback

b) Error

c) Connect

d) Reconnect

View Answer

Answer: Cc

Explanation: The call to this message specifies
many methods declared in the MessageChannel
class

Connect: specifies the function that will be called
when a successful connection with the PubNub
cloud.

59. specifies the function that will be
called when a successful re-connection is
completed.

a) Callback
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b) Error

c) Connect

d) Reconnect

View Answer

Answer: d

Explanation: The call to this message specifies
many methods declared in the MessageChannel
class

Reconnect: specifies the function that will be called
when a successful re-connection is completed with
the PubNub cloud.

28 specifies the function that will

be called when the client disconnects.

a) Callback

b) Error

c) Connect

d) Disconnect

View Answer

Answer: d

Explanation: The call to this message specifies
many methods declared in the MessageChannel
class

Disconnect: specifies the function that will be called
when the client disconnects from the PubNub cloud.
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61. Which characteristics involve the facility the
thing to respond in an intelligent way to a
particwlar situation?

a) Intelligence

b) Connectivity

c) Dynamic Nature

d) Enormous Scale

View Answer

Answer: a

Explanation: loT comes with the combination of
algorithms and computation, software and hardware
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algorithms and computation, software and hardware
that makes it smart. Ambient Intelligence in loT

enhances its capabilities which facilitate the things to
respond in an intelligent way to a particular situation.

62. empowers |loT by bringing together
everyday objects.

a) Intelligence

b) Connectivity

c) Dynamic Nature

d) Enormous Scale

View Answer
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Answer: b

Explanation: Connectivity empowers 10T by bringing
together everyday objects. Connectivity of these
objects is pivotal because simple object level
interactions contribute towards collective intelligence
in 1oT network.

63. The collection of data is achieved with
changes.

a) Intelligence

b) Connectivity

c) Dynamic Nature

d) Enormous Scale

View Answer

Answer: c

Explanation: The primary activity of Internet of

Things is to collect data from its environment, this os

achieved with the dynamic changes that take place

around the devices.

64. The number of devices that need to be

managed and that communicate with each other
will be much larger.

a) Intelligence
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b) Connectivity

c) Dynamic Nature

d) Enormous Scale

View Answer

Answer: d

Explanation: The number of devices that need to be
managed and that communicate with each other will
be much larger than the devices connected to the

cuerent internet.
31 j

Provide the means to create

capability that reflects true awareness of the
physical world and people.

a) Sensars

b) Heterogeneity

c) Security

d) Connectivity

View Answer

ANsSwer: a

Explanation: Sensing technologies provide the
means to create capability that reflects true
awareness of the physical world and people in it.
The sensing information is simply the analogue input
from the physical world.
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66. in loT as one of the key
characteristics, devices have different hardware
platforms and networks.

a) Sensors

b) Heterogeneity

c) Security

d) Connectivity

View Answer

Answer: b

Scanned with CamScanner



Explanation: Heterogeneity in |oT as one of the key
characteristics, devices have different hardware
platforms and networks. And can interact with other
devices or services platforms through different
networks.

67. loT devices are naturally vulnerable to
threats.

a) Sensors

b) Heterogeneity

c) Security

d) Connectivity

View Answer

Answer: c

Explanation: loT devices are naturally vulnerable to
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security threats. There is a high level of
transparency and privacy issues with loT.

68. Which challenge comes under loT devices,
reliable bidirectional signaling.

a) Signaling

b) Security

c) Presence detection

d) Power consumption

View Answer

Answer: a

Explanation: With connecled loT devices, reliable
bidirectional signaling is essential for collecting and
routing data between devices.

69. Which challenge comes under securing the
information?

a) Signaling

b) Security

c) Presence detection

d) Power consumption

View Answer
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Answer: b
Explanation: Security is a huge umbrella, but it's
paramount in Internet of Things connectivity.

70. gives an exact, up to the second
state of all devices on a network.

a) Signaling

b) Security

c) Presence detection

d) Power consumption

View Answer

Answer: c

Explanation: Its important to immediately know when

an loT device drops off the network and goes offline

and when comes online back. Presence detection of

loT devices gives an exact, up to the second state of
evices on a network.

34
hich challenge comes when we use many

devices on the same network?
a) Signaling

b) Security

c) Presence detection

d) Power consumption

View Answer
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Answer: d
Explanation: You need minimal battery drain and low
power consumption. You can't afford to use up

100% of an loT devices small and expensive
embedded CPU power.

72. a cellular network is expensive,
especially with many loT devices.

a) Signaling

b) Security

c) Bandwidth

d) Power consumption

View Answer

Answer: ¢
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Answer: c

Explanation: In addition to power and CPU,
bandwidth consumption is another challenge for loT
connectivity. Bandwidth on a cellular is expensive,
especially with many |oT devices.

73. Which of the following issues are considered
inloT?

a) Security Issue

b) Reliablity Issue

c) Standard Issue
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d) All issues

View Answer

Answer: d

Explanation: We should be very careful while
building 10T as it has the following issues:
Security Issue

Reliablity Issue

Standard Issue.

74. SBC stands for?

a) Standard Building Center

b) Smart Business Center

c) Standard Business Center

d) Smart Building Center

View Answer

Answer: b

Explanation: One of the key subsystems from point
of view of security of the complex loT system is a
smart business center system.

75. 1oT is a paradigm that involves ubiquitous
presence in the environment.
a) True
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b) False
View Answer

Answer: a

Explanation: loT is a paradigm that involves
ubiquitous presence in the environment of different
things that are using wireless and wire networks.



1. I1s MQTT a Standard?
Yes
No

2. |ANA stands for:
- a. Internal Assessment Numerical
Access
- b. Internet Association Numbers
Authority

c. International Aid for Network
Automation
. d. Internet Assigned Numbers
Authority

38]
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3. Standard port number for secure MQTT

is:

- a.1883
- b. 8000
. C.8883
- d.8888

4. |s CoAP a |ETF standard?
. True
False
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5. Bluetooth 5.0 promises:

. a.4x Speed, 2x Range, 2x Data
b. 6x Speed, 3x Range, 3x Data

. C.2x Speed, 4x Range, 8x Data

. d.3x Speed, 4x Range, 8x Data
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40 . Terms SSL and TLS stand for;
a. Secure Socket Layers and Transport

Layer Session
- b. Secure Socket Layers and
Transport Layer Security

c. Secure Socket Layout and Transport
Level Session

. d. Session Socket Layers and Transport
Layer Session

7. Which one out of these is not a data link
layer technology:

- a. Bluetooth
- b. UART
. ¢.WiFi

. d.HTTP
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8. Which transport layer protocols is used

by DHCP?
. a.RSVP
. b.TCP
« ©.DCCP
. d.UDP

9. Which layer is called a port layer in OSI
model:

a. Session
b. Application
- C. Presentation
. d. Transport

41 10. What is a firewall in computer networks:
, a. A system designed to prevent

unauthorized access
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. b. Aweb browser
. €. The physical boundary of network
. d. The Network Operating System

10. Router operate at ............ layer of OSI
reference model?

« a.lLayer 2 (Data Link)

. b. Layer 3 (Network)

. C. Layer 1 (Physical)
d. Layer 4 (Transport)
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11. Each IP packet must contain:

. a. Only Destination IP Address
- b. Only Source IP Address

. €. None of Above

. d. Source and destination IP
Addresses
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43 1112. Which one of this is not a networking

evice:
. a. Router
. b. Switch
. ~ c. Bridge

- d. Traffic Analyzer

13. What is the standard length of MAC

address:

. a. 16 bits
. b. 32 bits
. C.48 bits

. d. 64 bits
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14. What is the use of Ping command:

a

o

a. To know network speed
b. None of the above
c. To test a host on the network is

reachable

a

d. To test storage device

15. What is Secure Shell (SSH):

o

o

-]

o

a. A router

b. A firewall

c. A network protocol
d. Python Shell

16. What does VNC stand for:

o

44

o

a. Various Network computers

b. Virtual Network Computing

c. None of the above

d. Virtual Network Communication
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17. What is the purpose of bin directory in
Linux environment:

o

o

a. Contains essential device files
b. Contains essential binary

commands

c¢. Containing configuration files
d. Contains user home directories
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18. What is Inter Integrated
Communication(12C):

- a. An application layer protocol

- b. A networking communication
protocoll for multi-master support

- €. An OS for distributed network
communication

- d. A cellular communication protocol
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19. How many wires does SPI protocol use:

a.2

46 ) b.3
. €. 1

o dl4

20. What does LTE stand for:

a. Long Term Errors
- b.Long Term Evolution

c. Lengthy Terminal Estimation
- d. Long Term Estimates

21. Which one out of these is not LPWAN
technologies:

- a. SigFox
- b. WiFi
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. C.NB-loT
. d. LoRa

22. Frequency band used by 802.11 ah

standard is:
. a.60GHz
b. 2.4 GHz
47 c. Sub 1 GHz
. d.5GHz

23. Fuzzy Logic is a form of:
. a. Hexa state logic
b. Two-valued logic
. C. Binary set logic
. d. Many valued logic
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24. involves predicting a
response with meaningful magnitude, such
as quantity sold, stock price, or return on
investment.

. a. Summarization

- b. Clustering

. C. All of the mentioned
. d. Regression

25. Which of the following language is
preferred for loT analytics ?

a. Python
e b- S
b[] IR

d. All of the mentioned

26. Which one is simplest form of analytics
. a. Predictive
. b. Descriptive

c. All of the mentioned
48 yright Disclaimer under Section 107 of the copyright act 1976
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- d. Prescriptive

27. The method by which companies
analyze customer data or other types of
information in an effort to identify patterns
and discover relationships between different
data elements is often referred to as:

- a. Customer data management
- b. Data mining
- ¢. Data digging

d. None of the above
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28. A collection of lines that connects
several devices is called ..............

. a.Bus

. b.Cable

. . Power line

. d. Transmission Line
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29. A start bit in UART communication is

always:
- a.l
. b. Neither of these
. ¢€.0

50] |

30. Machine learning is

- a. The selective acquisition of
knowledge through the use of manual
programs

. b. The autonomous acquisition of

knowledge through the use of manual
programs

. C. The selective acquisition of
knowledge through the use of computer
programs
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31. HTTP resources are located by
a. unique resource locator

. b. unique resource identifier

. C. none of the mentioned

- d. uniform resource identifier

32. What is the TCP name for a transport
service access point

a. none of the mentioned
b. node
C. pipe
d. port

Taking copy or selling/sharing be infringing under action
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33. A Denial of Service attack is:

a. Connection flooding

b. Bandwidth flooding

c. All of the mentioned

d. Vulnerability attack

34. A packet sniffer is

= a. Active receiver

- b. Both of the mentioned
c. Passive receiver
d. None of the mentioned
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35. IPSec provides security at:
. a. Physical Layer

- b. Network Layer

. C. Transport Layer

. d. Session Layer
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36. WPA is a security mechanism in
- a. WiFi

- b. Cloud

. €. Bluetooth

. d. Ethernet

Ty

93 JHT. Network topology with a central hub or
switch is
a. Mesh
.  b. Token ring
. C.Star
. d. Token bus

Scanne! d with CamScanner



38. Internet domain name and hostname
are translated into IP address by

- a. Domain name system
b. Domain name database
- C. Router
- d. Domain information system

39. Which protocol allows user at one site to
establish connection to another site and
pass keystroke from local to remote host:

a. Telnet
o - DJETP
o || ICIP
- d.HTTP

S
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40. How many times setup function runs in

Arduino IDE:

- a. None of the above
o« B30

o (B

=} dl1
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41. How many times loop function runs in

Arduino IDE:
. a4
- b. forever
e~—041

d.5

42. What error occurs when you execute?
X = abc
. a. NameError

b. SyntaxError

. €. ValueError
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d. TypeError

56 ]3. PWM stands for:
/ a. None of the above

- b. Pulse Width Mode
c. Pulse With Modulation

. d. Pulse Width Modulation

44. Raspbian is:

. a. Assembler
. b. Language
. €. Compiler

. d.0S
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45. CGl stands for:

. a. Common Gateway Interest

- b. Common Gateway Interrupt

. €. Common Gate Interference
d. Common Gateway Interface

46. MQTT is:
. a. Based on client-server architecture

b. Based on publish-subscribe
architecture

. C. Based on both of the above
- d. Based on none of the above

57 }right Disclaimer under Section 107 of the copyright act 1976.
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47. What is the access point (AP) in
wireless LAN?

- a. none of the mentioned
- b. wireless devices itself
- c. both (a) and (b)

d. device that allows wireless devices
to connect to a wired network
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48. In wireless ad-hoc network

. a.none of the mentioned

- b. access point is not required
- C. nodes are not required

. d. access point is must
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49. Which multiple access technique is used
by IEEE 802.11 standard for wireless LAN?

- a. ALOHA
- b. CSMA/CA

. ¢. CDMA
50 } d. none of the mentioned

50. Which is the correct operator for

power(x*y)?
B anxdy

. b.xMy

« Bl X*Y

. d. None of the mentioned

51. What is WPA?

- a. wi-fi protected access
b. wired process access

. C.wired protected access

- d. wi-fi process access
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52. The answer of 2+3L is:

. a.bo

. b.5L
c.5

.~ d. Error

53. An interconnected collection of piconet
is called

. a. micronet
- b. scatternet
. C. mininet
d. none of the mentioned

54. In a piconet, there can be up to
parked nodes in the net.

. a.bd11
. b.63
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« C.255

. d.127

55. Secure shell (SSH) network protocol is
used for

.~ a. remote command-line login

. b. remote command execution
. C. all of the mentioned

. d. secure data communication
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56. The network layer concerns with

a. bits

- b. frames

- €. none of the mentioned
d. packets
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57. Ethernet frame consists of

- a. none of the mentioned

. b. IP address

- C.both (a) and (b)

- d. MAC address

58. What is internet?
- a. interconnection of local area networks
- b.avast collection of different

etworks
C. a single network

- d. none of the mentioned

59. DNS database contains
- a. hosthame aliases

- b. hostname-to-address records
. C. all of the mentioned
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1) How many numbers of the element in the open loT
architecture?

a. Four elements
b.Five elements
c. Six elements

d.Seven elements
Answer: (d) Seven elements

Description: There are seven numbers of elements
in the open loT architecture:

1.Configuration and monitoring
2.Cloud data storage
3.Scheduler

4.Request definition

5.Request presentation

6.Service delivery and utility manager
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ensor middleware (X-GSN)

2) Which of the following is the way in which an loT
device is associated with data?

a. Internet
b.Cloud
c. Automata
d.Network

Answer: (b) Cloud
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Description: Cloud-based services provide a way for
loT devices to be connected to data. For example:
Just as the WWW (World Wide Web) runs on the
Internet, so does loT.

3) Which of the following loT networks has a very short
range?

a. Short Network

Copyright Disclaimer under Section 107 of the copyright act 1976
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b.LPWAN

c. SigFox

d.Short-range Wireless Netwaork
Answer: (d) Short Range Wireless Network

Description: Short-range wireless networks have a
very short range. This type of network is used for
applications running in the local environment. The
best example of this network is Wi-Fi and Bluetooth.

66 J
hat is the full form of the LPWAN?

a. Low Protocol Wide Area Network
b.Low Power Wide Area Network
c. Long Protocol Wide Area Network

d.Long Power Wide Area Network

Answer: (b) Low Power Wide Area Network
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Description: The full form of the LPWAN is Low
Power Wide Area Network. LPWAN is a type of
wireless telecommunication, and it is specially
designed for M2M (Machine to Machine) and loT
devices.

5) An loT network is a collection of devices.

a. Signal
b.Machine to Machine
c. Interconnected
d.Network to Network

Answer: (c) Interconnected

Description: An loT network is a collection of
interconnected devices that communicate with other
devices without human involvement.
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6) Which one of the following is not an |oT device?

a. Amazon echo voice controller
b.Google Home
c. Nest Smoke Alarm

d.None of these

_Answer: (d) None of the these
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Description: These are all |oT devices. Google Home
iIs @ smart speaker that obeys all the commands
given by the user. The Amazon Echo Voice Controller
Is also a smart speaker. The Nest Smoke Alarm is an
loT device that sends a smoke alert message to the
user when a fire occurs

7) What is the main purpose of WoT (Web of Things) in
the loT?
a. Improve the usability and interoperability

b.Reduce the security
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c. Complex the development

d.Increase the cost

—_Answer: (a) Improve the wusability and
interoperability

Description: The main purpose of the Web of
Things is to improve the usability and
interoperability in loT. Developing loT Apps through
WoT is much easier, faster, and less expensive.

69

8] What is the Arduino UNQ?

a. Software
b.Hardware device
c. Network

d.Protocol

_Answer: (b) Hardware device
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Description: The Arduino Uno is a hardware device
that is based on the Microchip ATmega328P
microcontroller. It has been developed by
Arduino.cc.

9) allows the wuser to control electronic
components.

a. Android API
b.RETful API
¢. MQTT API
d.CoAP API

_Answer: (b) RETful API

Description: The RETful API allows the user to
control the electronic components connected to the
Intel Galileo Gen 2 board via HTTP requests.

10) Which of the following is not an application of loT?
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a. Wearables
b.Smart Grid
c. Arduino
d.Smart City

_Answer: (c) Arduino

Description: The Arduino Uno is a hardware device
that is based on the Microchip ATmega328P
microcontroller.
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11) Which one of the following protocols is lightweight?

a. IP
b.HTTP
c. MQTT
d.CoAP

_Answer: (c) MQTT
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Description: The full form of the MQTT is Message
Queue Telemetry Transport. It is a lightweight
messaging protocol that runs over the TCP / IP
protocol.

12) What is the role of Big Data in loT's Smart Grid
architecture?

a. Filter the data
b.Locked the data
c. Store data

d None of the these

72 }swer: (c) Store data

Description: The main role of Big Data is to store
data on a real-time basis. It uses multiple storage
technologies to store the data.
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13) What is the real example of a smart grid device in
loT?
a. Mobile phone

b.Television

c. Smart Speaker

.d.Smart Meters

_Answer: (d) Smart Meters

Description: Smart Grid is used to monitor the
power supply. Consumers' data is collected using a
smart grid, and that data is analyzed and distributed
to the consumers. The real example of a smart grid
device is a smart meter,

14) What is the full form of the MQTT?

a. Multi-Queue Telemetry Things
b.Multiple Queue Telemetry Things

c. Message Queue Telemetry Things
Copyright Disclaimer under Section 107 of the copyright act 1976.
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jMessage Queue Telemetry Transport
/3

nswer: (d) Message Queue Telemetry Transport

Description: The full form of the MQTT is Message
Queue Telemetry Transport. It is a lightweight
messaging protocol that runs over the TCP / IP
protocol.

Scanned with CamScanner



15) What is the full form of ICT?

a. InterConnect Technology
b.Internet Connection Topology
¢. Information and Communication Technology

d.Infer Communication Topology

__Answer: (¢) Information and Communication
Technology

Description: The full form of ICT is Information and
Communication Technology. ICT is a
multidimensional term for the IT sector that refers to
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all communication technologies, including the
Internet, wireless networks, cell phones, computers,
and software.

16) Which of the following frequencies is correct for the
Galileo gen 2 board?

a. 250 MHz
b.400 MHz
c.450 MHz

~.300 MHz
75 }swer: (b) 400 MHz

Description: The frequency of this board is 400
MHz. The Galileo gen 2 board frequency gives the
speed of operation of the board. Therefore, the
speed increases as the frequency increases.
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17) What is the full form of IANA?
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a. Inter-Assessment-Number-Access
b.Internet-Association-Numbers-Autharity
c. International-Aid-for-Network-Authority

d.Internet-Assigned-Numbers-Authority
Answer: (d) Internet-Assigned-Numbers-Authaority

Description: The full form of IANA is Internet-
Assigned-Numbers-Authority. It is an administrative
function of the Internet that monitors the IP
addresses and domain names.

18) What is the standard port number of secure MQTT?

a. 1883
b.8000
c. 8883
d.8888

_Answer: (c) 8883
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Description: The standard port number of Secure
MQTT is 8883, and it is registered in IANA for Secure
MQTT.
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19) Which of the following layers provides end-to-end
communication in loT?
a. Logical layer

b.Data link layer

c. Transpaort layer

d.Session layer
_Answer: (c) Transport layer

Description: The transport layer focuses on end-to-
end communication, and it gives reliability and
congestion avoidance that packets will be delivered
in the same way as the user sent the packet.
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20) Which of the following devices is used to measure
the gases or liquid?

a. Optical Sensor
b.Gas Sensor
c. Smoke Sensor

d.Pressure sensor

swer: (d) Pressure sensor
77 I

ription: The pressure sensor is used to measure

the gases or liquid. Pressure is the expression of a
force that is necessary to prevent fluid from
expansion.

21) Which interface does the fingerprint sensor use?
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a. UART interface
b.CoAP interface

c. SPI interface
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d.I2P interface

_Answer: (a) UART interface

Description: The fingerprint sensor uses a UART
interface to store fingerprint data. It can be
configured in 1:1 or 1:N mode to identify the person.

22) Which of the following protocols is used by USART?

a. RS32
b.RS232C
c. 4RS85
d.All of the these

_Answer: (b) RS232C

Description: The most commonly used protocol for
USART in asynchronous mode is RS232C. This
protocol describes the physical interface for
relatively low-speed serial data-communication

between devices and computers.
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23) What is the full form of HDLC?

a. Higher Data Level Communication
b.Higher Data Link Communication
c. High-level Data Link Control
d.High Data Level Control

_Answer: (c) High-level Data Link Control

Description: The full form of the HDLC is High level
Data Link Control. It is a communication protocol. It
is used to transmit data between nodes and data
points.

24) Which of the following "bit" defines the address bit in
the control register?

a. ML
b.MM
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c. RXWake

d.None of the these

swer: (b) MM

ription: The MM bit defines the address bit in
the control register.

25) What is another name for 12C?

a. Signal wire interface
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d.USART
_Answer: (b) Two wire interface

Description: The 12C protocol is also known as the
two-wire interface. It is a simple serial-
communication-protocol that uses pins of a
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microcontroller, named as serial clock (SCL) and
serial data (SDA).

26) When the clock line SCL is high, the SDA is ___
transitioned.

a. Low
b.High
¢. Medium
d.All of the these

_Answer: (a) Low

Description: When the clock line SCL is high, the
SDA is low transitioned. Under normal
circumstances, this does not happen, as you can see
in the subsequent clock pulses that the data line is
stable in one state, either high or low, when the
clock line is high.
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27) Which of the following protocols does the secure
digital card application use?

a. XMPP
b.SPI
c. MQTT
d.HTTPS

_Answer: (b) SPI

Description: SPI stands for Serial Peripheral
Interface. The SPI protocol is commonly used to
secure digital card applications and liquid crystal
displays.

28) How many logic signals are there in the SPI protocol?

a. Five signals
b.Six signals

c. Nine signals
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d.Zero signals

. Answer: (a) Five signals
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29) What does MOSI mean?

a. MOSI is a network line.

b.MOSI is a clock signal that sends the clock
signals from master to slave.

c. MOSI is a data line that sends the data from
master to slave.

d.None of the these

_Answer: (c) MOSI is a data line that sends the data
from master to slave.

Description: MOSI stands for Master Out Slave In.
MQOSI is a data line that sends the data from master
to slave.

30) What is the full form of HART?
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a. Highway Application Remote Transport

b.Highway Addressable Remote Transducer
c. High Address Reduce Transport
d.High Application Remote Transport

. Answer: (b) Highway Addressable Remote
Transducer
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31) What is the range of z-wave?

a. 30to 100 m
b.300 to 1000 m
c. 100 to 1000 m
d.Only 10 m

_Answer: (a) 30 to 100 m

Description: The Z-Wave is a low-power Mac
protocol designed especially for smart home and

small business domains. It covers the range from 30
to 100 m.
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32) Which of the following topology is used for ZigBee
Smart Energy?

a. Bus Topology
b.Ring Topology
'c. Star Topology
d.Any Topology

_Answer: (c) Star Topology

Description: ZigBee Smart Energy is designed for a
wide range of loT applications. It supports a wide
range of network topologies, such as star topology.
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33) Which of the following protocols does not exist at
the data link layer?

a. ZigBee Smart Energy
b.LoRaWAN
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c. WirelessHART

d.Secure MQTT
_Answer: (d) Secure MQTT

Description: Secure  MQTT is a session layer
protocol. It is an extended version of the MQTT
protocol that uses encryption based on lightweight
attribute-based encryption

34) Which of the following is the type of SPI controller?

a. Micro-wire or plus
b.Microwire
c. Data SPI
d.Queued SPI

_Answer: (d) Queued SPI

Description: A Queued SPI is a type of SPI controller
that is used to send a data queue from the SPI bus.
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35) What is MQTT primarily used for?

a. User communication
b.System transfer
c. Machine to Machine Communication

d.Create connection

. Answer: (c¢) Machine-to-Machine Communication

36) What is the frequency rate of z-wave?

a. 90842 GHz
b.928.49 GHz
c. 88842 GHz
d.708.49 GHz

_Answer: (a) 908.42 GHz

Description: The frequency rate of z-wave is 908.42
GHz. The Z-Wave is a low-power Mac protocol
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designed especially for smart home and small
business domains.

37) What is another name of the tactile sensor?

a. Weight sensor
b.Imaging sensor
c. Proximity sensor

Touch sensar
swer: (d) Touch sensor

Description: The tactile sensor is also called a touch
sensor. It is an electronic sensor used for detecting
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38) How many types of capacitive touch sensors in loT?

a. Two types

b.Five types
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c. Seven types

d.Nine types
. Answer: (a) Two types

Description: Two types of capacitive touch sensors
in loT:
= Projected-capacitive sensing

. Surface-capacitive sensing

39) Which of the following touch sensors is used in a cell
phone?

a. Resistive touch sensors
b.Human sensor
c. Capacitive touch sensor

d.Follow sensor

_Answer: (c) Capacitive touch sensor

Scanne! d with CamScanner



-

Description: The capacitive touch sensors are widely
used in portable devices such as cell phones. The
main reason for this sensor development on the
phone is low cost, durability, and design.

40) Which of the following languages does GSN work
on?
a. Python

b.JAVA

c. Android

d.C++

_Answer: (b) JAVA

Description: GSN stands for Global Sensor Network.
GSN works on JAVA language because JAVA
language is portable in nature. The other language
(such as C, C++, Python, and HTML) is not portable
in nature.
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41) Which of the following is the example of a short-
range wireless network?

a. VPN
b.Wi-Fi
C. Internet
d. WWW
e. Answer: (b) Wi-Fi
f. Description: Short-range wireless networks have
a very short range. This type of network is used for

applications running in the local environment.
Examples of this network are Wi-Fi and Bluetooth.
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1.1 Microcontroller used in Arduino UNO prototyping board is
Ans- ATmepad28p

1.1 Arduine UNORTERTST @8 3 wgae Aeegie

Ans- ATmegall8p

1.2 With respect to the body language, the handshake conveys the confidence is
Ans- Firm

12wl & 5 & F@Eu A futw Mars oosa s &
Ans- st

1.3 Which of the following is not a standard protocol used in loT domain.
Ans- LoMe

1afdm= & & w9 I & e B e orer o A O a8 B
Ans- &l

1.4 Which of the following is not a main element of loT
Ans- People

14 f=fafaa & 3 #la wrw gon odivie o ¢
Ana- W=

1.5 Which symbol is used in Arduino to calculate Module

Ans- "%’

1.5 AR & 705 @t F AT Anduoo & fw olts &7 3907 B oma 2
Ans- "%

1.6 Toeasily interface add-on modules with Arduino we can use
Ans- Arduino shields

1.6 Arduine & FTY 02-M FiggE ) went & fovE &6 § 80 g0 svEh av w8
Ans- it ehezw

1.7 Hotnet is often used to launch attack

Ans- DDoS

1.7 WS &7 WA AT BAA = T+ & Tav fear 5o g
Ans- & =CH

1.8 The lloT stands for
Ans- Industrial Internet of Things

1.8 DaT & 7 &9 §
Ans- ETiITOR EzTaT aTw fEm

1.9 The default method(s) in Arduino program isfare
Ans- setup() and loop()

1.9 Anduine SaITH A Powler BT (5T) &%)
Ans- sstupi] 37 loop()

1.10 Which of the following communication medium supports highest data rate
Ans- (ptical liber

110 f=Rfaa & @ ofF W R 7oA IToaR O o 'Rl #a B
Ans- ¥fews wEay

2. Each statement be'ow i3 either TRUE or FALSE.
I B s weds aro o B w6 m oaEA B (1x10=10)

2.1, The total resistance of resistor {5 low when connected in series

Scanned with CamScanner



2.1, The total resistance of resistor is low when connected in series
A) TRUE

21 AT A 3 W 9T ITOUT & FW ey &9 fe §

A) T

2.2 Microprocessor has only processing capability, no serial interface or Interrupts are
available

A) TRUE

22 FEAERE A A AT eurr b AfTe sevw O fere e @t
A)FF

2.3, Time management Is primarily creating an environment conducive to effectiveness
A) TRUE

22 FAT IR {ET ¥ # anmihad & v yege amme dan =

A) Tl

2.4, Mirai botnet attack was ariginated from loT cameras
B) FALSE

2.4 TATE dfeaT g A qEIE LT S A g A

B) ¥

2.5, In ATmega328p, p stands lor pico power
A) TRUE

25 ATmepat2p A PR R S /T s Frar &
A) ¥

2.6, Arduino program statement for generating one second delay is - delay(100)
B) FALSE

26 TF 55 20 Ieae A F TR Arduine TITA &7 BT § - delayi lo0)

8] H¥Eem

2.7, Stress is an emotional reaction to physical and psychological demands
A) TRUE

27 g3 wifeE AT aandwtas At § v oF saarEs ot g
A) T

2.8, Ohms law calculates the power consumed by an electrical appliance
A) TRUE

28 3w & oF REga 3T @ a@va u@¥T ¥ o Fa g
A) BT

2.9, llaT targets applications related to health and fitness

A) TRUE

2.8 toT FarEe AT freete & #afia vt & aff| & &
A) #74

2.10. Capacitor blocks AC and allows DC to pass through

B) FALSE

210 ¥AffEy valr F w@E Far o il @ e B el R
B) 3\

3. Match wards and phrases incoumn X with the closest relaled meaning ol word{s)/phrasa(s) in columrn
Y.

A XA B av =) ot oret o e wnee v B o B dEftn it et @
Lo el

3.1, Default bootloader for Arduino.

Ans- Optiboot
3.1 Arduino % TAT RBwiee gEarst
Ans- Optiboot

3.2, PWM pins in Arduino UNO,
Ans- 6
3.2 Arduino UNO R PWM Fsr =01 &)
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Ans- G

1.3, Informal Communication.

Ans- Grapevine

3.3 Hetgaits "9

Ans- Grapevine

3.4, Analog Read method in Arduino UNO returns value range 1999

Ans-(-1023
1.4 Arduino UNO 77 TamaT {12 Aws =g AT

Ans-(0-1023
3.5, Open source Operating System

Ans- Linux
1.5 e @ e faren

Ans- linux

3.6, Program written in Arduino IDE
Ans- sketch

3.6 9T Arduino IDE# @y mr &)
Ans- sketch

1.7, The term "loT was coined in

Ans- 1999

1.7 0T W= &Y ST AT T |
Ans- 1999

3.8 Single line comment

Ans- //

3.8 fifore arder w9

Ans- //

3.9, Analog Write method in Arduino UNO accepts value range

Ans- (0-255

3.9 Arduino UNO & vt wée [f A Ao & =fen s &
Ans- 0.255

3.10. Function called ance in Arduino program
Ans- Setup()
3.10 Arduino SRITH & UF @R 911 J ST GFE

Ans- Setup()

4, Each statement below has b ank space o it one of the waord(s) of phrase(s) In the | 51 be'ow. Choose
the mast appropriate ocplian, enter your cholce in the "OMR" answer sheet supplied with the quest on

paper, fo/lowing instructions therein.
#F B o 1w g A A & o A vE v @ A F R R e e o

M FRAIE A s R w TR T S I TSR A F
o fad v afTRI sA W @ R S (1010=10)

4.1, IC contains memory, input-output peripherals along with processing capability.
Ans- Microcontroller

41 e TR F WRATET WA F WY AR FATC IM3CqT afvdry @ E
Ans- FEFIECIT

4.2 Analog Write method is used for pins in Arduino.

Ans- PWM

42 Arduino T eseesssssrnnen {1 & 8T A0 fMws & {0 &1 39w
S gl

Ans- 01 23] UH

A7 Tha tarm Intarnat nfl Thinae wae firet cninad ha
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435z HE U9 e A@9d 9Ed ... ... .. SEWT WYST 14 A

4.4 Modern PC has as main component in CPU

Ans- Microprocessor

sadidg S mes F A FyEs dr A L #

4.5 is medium weighted extension of cloud computing in loT domain
Ans- 'og Computing

45 e FTSHTE BAA A FoMIZ Fogfean & wvgw wita BT |
Ans- ®iar Fgfea

4.6 is designed to launch botnet attacks from laT

Ans- mirai

46 e JOT W FTEAT FAAT FT Fird 344 & [0 oz fmar s g
Ans- T3

4.7 The lounder of Arduino project is

Ans- Massimo Banzi

4.7 Ardutno W3FE & TATUYF ... 3[

Ans- 7R ATt

4.8 Fersonality is derived from Latin word = persona meaning

Ans- Mask

4.8 Personality 3T ez & f&ar a3 & - persona @ 34
Ans- HTER

4.9 The statement describing what has happened is called

Ans- Report

4.qa'r§3nl'€mmrau'r;r ISRUORRRUORUO - .-+ g\~ | 1|

Ans- F{5TE

4.10 board of Arduino family can be used to sewn into clothing
Ans- Lilypad

4.10 Arduino 9ER & M FImgmFsr AR F Rv o asar ¢
Ans- fafadz
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1.1 The huge numbers of devices connected to the Internet of things have to communicate
automatically is called.

Ans- Machine to Machine

1.1 §zEe 1E fTE § g oft Foo A el ® wmafaa 7 @ #ON S pa R
Ans- e ¢ A

1.2 Which transport layer protocols is used by DHCP?

Ans- UDP

1.2 SrTendt Zam e gead AW seEs & Ive e e @
Ans- =i

13 Which of the following is not a main element of loT
Ans- 'cople
raffafaa & & #18 wis Joa o A §

Ans-

1.4 Which sensor is used in mobile phones?

Ans- Humidity sensor

1.4 7R o 3 frw der & I e o &
Ans- %@ dw

1.5 Global Sensor Network is built for
Ans- Reduang cost and time for development

1.5 TRTR FM AZ9F & fAv o= mm o ¢
Ans- em & v mvm Mt e @t w3 AT

1.6 The huge number of devices connected to the Internet of Things has to communicate
automatically, not via humans. What is this called?

Ans- Machine 2 Machine

16§z 3% & 53 @ dew # 3uSt & @Eafed ¥ @ F§9E {40 95 L
Fesdl & ATCGH W AE FH ¥ Fel Fd §

Ans- =% 7 m'm

1.7 MQTT stands for
Ans- M(Q) Telemetry Transport

1.7 MQTT & Jof #9 &)
Ans- vwEg FEd gt

1.8 Which is the core wrapper of GSN?
Ans- ZeroMQWrapper

1.8 5 HTHTA FT {ET WS §
Ans- =31 vEE &6t

19 supports low energy radio operation,
Ans- Bluctooth

19, Fow 550 1R some = ol w0 B
Ans- =7

1.10 Which of these is used as a form of greeting for business people?
Ans- Dear Sir

11054 & Fas suom coaeiidl & Re e S ww A R s B
Ans- =
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proiocol that runs on top ol the 1LY /Y proiocol
A) TRUE

211 MOTT & MO AT oTaat OeTa & o9 & S Far O | MOTTUF goaT QS
¢ 3 Strdanddy W & 39 aaa

A) 7iem

2.12. Radio«frequency identification (RFID) is a technology that uses elecromagnetic felds
to identify objects or tags which contains some stored information

A) TRUE

212 (e amsifeftedmm (ran) o O AT RS e ATIReE Besw @
FEIAR 39 Mietwew @ &7 & sgam & & fAv & SR o 12 & g
grelt ki

A) W

2.13. NFC (Near Field Communication) is a protocol used for enabling simple and safle two-
way interactions between electronic devices,
A) TRUE

213 vauwd (P & sgfadm) st dEE @ A sdsAE suset & &
e Y FrfEE W e § W 7§ [ ae e

A) 7

2.14. Resistive touch sensor is used for longer time than capacitive touch sensor

A) TRUE

214 wfadiuw zu da &1 39am FfaRa eo daw §1 gaen # 30w @ F [ S
S

A) T

2.15, One of the main characteristics of Linked Stream Data is “Live Streaming
A) TRUE

s Emtnfiqm i A d e ®fFEn §

A) #1ey

2.16. A function is a picce of code that can be used from elsewhere in a sketch

A) TRUE

216 UF w9 12 W oF A f O v 2 A & i @ vy e 3 awar
A) @7

2.17. Where possible and suitable, delegate responsibility to others to reduce pressure on
yoursell in difficult situations.

A) TRUE

217 IIF ®WT @ AT ITgE @ wiow TRiFufad & gr W @m0 5 & [ g
Gt Wity |

A) e

2.18. MQTT is a lightweight protocol that runs on top of the TCP/IP protocol and works
with publish subseribe mechanism

A) TRUE

218 MQTT UF Fool Wiaiwie g 3 aemfamd odsie & od ot amar ¢l wenehe
AeRwIsa ASfeoH & #Y FIH #dT § |

A) T

2.19. A pressure sensor is a device that senses pressure and converts it into an electric
signal

A) TRUE

2OV AR F W ITRU N @A R AT AT E M A F s e &
aZd AT §

A)wa

2.20. Etiguette is also known as the science of living. [t is defined as the good behaviour
which helps distinguishing human beings from animals
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21. Process of keeping track of Users Activity in loT ecosystem
Ans- Authentication
loT aTRTEUTa#r a9 & Iwdhrea wfafafo w aox s & ofir

Ans- 3TdfeeETa

22. Which Is a modular and cloud based platform
Ans- Eclipse Kapua
' TF Azge ¥R FEEs Il weews

Ans- ST F3T

23. Which touchscreen technology does not incorperate an overlay
Ans- Infrared
TAENA AFaE [SEd rw Hae miae 396§

Ans- 33

24. Tool can be used for Threat Modeling

Ans- TMT 2016

T & FEoe e AEfan & ®v & 5w g

Ans- TMT 2016

25 Access point bs not required

Ans- (In wircless ad-hoc network)

tr§7: fag # smrrawar 78 &

Ans- (In wireless ad-hoc network)

26, This factor affects development of personality through biological inheritance

Ans- Nature
or Fw fdw e & oo @ afdaa & Rew S onfRa s @

s 5T

27. Self-confidence is affected by comparing ourselves to others, or social camparison
Ans- Pasitively

Y T gEU W GEA FO T FANAT oAl S § Hienenan wafaa ghar 21
Ans- FFHT0AT

28. Cloud gateway [acilitates data compression and secure data transmission between

Ans- field gateways and cloud 1aT servers
FAST F AT L T W FEE T T iEa 2o gmfinm & gl
aTw FaAT R

Ans- 7T ez TE AT FEEE oTEAT

29. A program written with the IDE for Arduine i< called

Ans- SKETCH

Arduino ¥ fRT IDE &1y B v v 9homw & & @ ST g
Ans- SKETCH

30. What 1s source shell {(SSH)

Ans- A Network Protocol

FH FI9 (SSH) FT0 B

Ans- UF weds WEEd

IR T TP Tyt S PR NP TSGR SR ARG R S P - iPoa ke & e -
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11. Ethernet irame consists of
Ans- MAC address

SRR A . ... . tEE
32 is the Ethernet/LAN cable used in RPi?
Ans- 45

e HARHTE A Ut R I A ST FEA B
Ans- R]45

i3 1s a community that is working together to establish an loT architecture
Ans- Eclipse loT

SE—— R R e e S i e o R I T
FTH FT @RI

Ans- o ImEata

34 is like a community that consists of data and monetary Mows that helps in
connecting enterprises and vendors together

Ans- loT ecosystem
............... UE FHa & @E ¢S 2o o HiRE v f € S seet ik
faFra | v wy Fza & wEos e g

Ans- IS SRREH

15 is monitored using temperature sensor and data is stored / analysed locally
Ans- Room temperature
......... F I FF FFE F amAE A FIEn & FE ¢ 27 @ e sy

o wagrafawse S =ar g
Ans- FH dO9H A

16. Barometer is which type of sensor
Ans- Pressure sensor

Rt E i o o oo -S|
Ans- ¥ dAT

Scanned with CamScanner



37. board allows sewn into clothing
Ans- LilyPad

e AYE T B Y IO FeT
Ans- fafags

38 Having self-csteem matters because it gives us the
Ans- confidence to try new things

HTeH-[FATT FATO T § 4706 O §F . ... & gl
Ans- &% 1A & HrFEw & HesTdraETH

39. is the process of indentifying a person before giving an access?
Ans- Authentication

loT e Fmnfas F @ L @ & fSe osnpfee g

Ans- yrifeem=

40. is an air pollution measuring sensor device. It senses the pases like ammonia
nitrogen, hutane, propane, Benzene, oxygen, alcohols, aromatic compounds, sulphide and
smoke.

Ans- M(}-135

________ U AT We¥OT AGS drer R FaEmw @) oy e anged, w52, e,
aiter, HiFHIa, Ieaied, {100 FIEFL FeRss W YT 56 36 1 #5g8 S
gl

Ans- M()-135
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1.1 The temperature and humidity sensor values are printed in
Ans- PII

1.1 AR A A A e A FRE A

Ans- FIP

1.2 Self-actualization is the process where by individuals
Ans- reach their full potential
1.2 wieR-ay ag wiEm ¢ Gwd o e

13 enables scamless integration of LOWPAN devices with internet leveraging.
Ans- |ETF 6LoWPAN

L . FTTAT & WIH IS F WY LoWPAN ITFIVN & HEsl TaA01 F FEA FIar
Ans- IETF GLoVWFAN

1.4 10T security management includes
Ans- Security with hardware

1.4 1oT FRET waAUA A WA §)
Ans- midmy & @ Hoen

1.5 The Internet of Things will run on many communication standards. Which of these is
not a standard body or protocol?

Ans- Tyrell

1.5 5T 3T TR &% FOR A o7 TeE & @ #1 oF e e o didEe
af &

Ans- rite

1.6 The laT stands for
Ans- Industrial Internet of Things

1.6 LT & 07 #9 BI
Ans- £=frpga gt e fibg

1.7 When it first appeared in English, the word "personality’ referred to what?
Ans- 'ersonhood
1.7 52 O Spar @ ¥ # fran @ tpenonaliny” g fREd AT Som mam

Ans- THFTE

1.8 Which category is used in the context of connected cars?
Ans- Group loT
aFTT I F s A AT s e Ea
Ans- 77 3mENA

19 allows us to control electronic components
Ans- RETiul AP

19, @@ gewglias goet o e s & smafa e &
Ans- RET!l AF|

1.10 Which hoard is first to use microcontroller within build USB?

Ans- Leonardo

110 UsB T F 7 798 ope 9 &7 o AnEE & 399 W &
Ans- Tz

Scanned with CamScanner



2.11. ZigBee is another 1aT wireless protocols has features like the Bluetooth technolagy.
A) TRUE

211 Zighee UF MW 10T ATOTAE WA ¢ 57 tqgu & o fadware &

A) T

2.12. The MQTT protocol is a machine to machine and Internet of thing connectivity
protocol

A) TRUE

2.12 MQTT SEF % Mfe ¢ e R szaee o fie w=ifefdd deisia t
A) FFT

2.13. Communication attacks, which put the data transmitted between loT devices and
servers at risk

A) TRUE
PO FRF LIFTFFT R Tt Fdocdafm o @ A =3 §

A) 7

2.14. Security features must incorporate in the recomeded formate of loT,

A) TRUE
gt & & epifae e # ol e o afie

2.15.12C stands for "Inter-integrated circuit” bus It was developed for television by Philips
Semiconductor, 1980,

A) TRUE

215 12¢ -8 & ww & AU ) o AEfaen At v gEmr ST &
fov fasfEa e o

A) FF

2.16. Stress is an emotional reaction to physical and psychological demands.
A) TRUE

216 gy wifs M sAdAfaw aat & v oF saeees ot B

A) F=

2.17. An infrared sensor is a sensor which is used to sense certain characteristics of its
surroundings by either emitting or detecting infrared radiation.
A) TRUE

217 UF AN AR UF AW BT B s9NE RBuwE & IeEEA O 9AT SOE 3RS
of@n i Fo fivarst ) wma & R sy e a3 g

A) T

2.18. A DC motor is any of a class of rotary electrical motors that converts direct current
electrical energy into mechanical energy.
A) TRUE

218 UF IR AT Il Tomga A &1 o & ¢ S weow Rega 350 oifvs 5o A
aftafda & @

A) Fcg

2.19. Ohms law calculates the power consumed by an electrical appliance,
A) TRUE

219 HA & v% REga 3w @0 avd o e 1 e s
A) 7

2.20, Libraries are very useful for adding the extra functionality into the Arduino Module,
A) TRUE

220 Arduio Motule 7 JTRF Friemar st & e asdd aga s920h &)

A) Hcg
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21. The name for the hardware used for a RS-232 Serial Interface.
Ans- UART
RS-232 @fad sevhy F AT 39air e & o] enday &1 917 £

Ans. UHTTE

22, Which possibility connects the production line to suppliers?
Ans- Connected supply chain

A @ FaraA ITES W3A # A @ S b
Ans- =TT FEATE O

23 Itis an open loop control system,
Ans- Ficld controlled DG motor
U A w9 e e R

Ans- Fivs Fgles St e

24. It allow bi-directional, full duplex communication between clients and servers.

Ans- WebSocket APls

o7 F5C AR AR & 99 gF-Tanerw, O sywiEa sRgeane i At & B
Ans- WebSocket APLs

25, The function returns a number between 0 and 1023, which represents voltages
betweenD and 5 volts,

Ans- analogRead()
wﬁmmmmmm WRFdfT TFaem A daaa e, A o

M saee & dra deeT F1 waEiueE w149 g
Ans- analogRead()

26. The control action is independent of the output.
Ans- In open loop system

fAmTor T s & wa7 8

Ans- ¥+ 59 fieew #

27. "Personality’ comes from the Latin persona, meaning

Ans- mask
‘Persanality' @A persona & 3mar &, s wd @

Ans- ATER

1in network layer is transferred in the formof ___

Ans- Packets

R A A ¥ TR Tumnaia S o g

Ans- §FTT

29. Transmitting and receiving must be set for the same bit speed, character
length, parity, and stop bits for proper operation,

A.l!.l- UARTs

.............. F i &1 3N 9g & o § i oafa e Ay wma & e
faetfta gmr anfge, 3t 3Fm daws & v faea & da affo
Ans- UARTs

30. This means enhancing and grooming ones outer and inner self to bring about a positive
change to your life.

Ans- Persenality Development
THFT FAod £ HUA AR FENcHE gedd W & fav agd 3t walie S
o fers Al E Pl

Ans- Personality Development
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31 an open source stack for gateways and the edge
Ans- Eclipse Kura
_______ iz MM Bt & T oF gor ald #@2F)

Ans- $TFE T

32 Botnet is often used to launch attack

Ans- DDoS

FiTei & IYAT AT ... BAS UE F4 & fET fear s @
Ans- 33TH

33 _ function reads the value from the specified analog pin.

Ans- analogRead()
.. O e Wi varant U9 @ 7 F7 9Ear g

Ans- analoglead()

34. In Asymmetric key cryptography, the provate key is keptby___
Ans- Receiver
ofEARs & e A e . L ZEw I Srh @

Ans- 9 areAT

35 was developed in the United States by the Defence Advanced Research Projects
Agency (DARPPA) in the 19708

Ans- TCI'/1P

1070& gIF & F FYFS To7 IATF A BFW vzans AEd Sewew v
(DARDPA) Zamr Tawfaa S aman ami

Ans- i amddy

36 The message Channel dass declares the class attribute that defines the key

string,
Ans- command_key
#ﬂaﬂﬂaaﬂﬁﬁtﬂﬁqﬁmﬁﬁﬁﬁMHﬁmﬁWﬁmﬁﬁm

.
Ans- command_key

37. Sample and hold circuit is a circuit
Ans- Analog device
e W s ow L afdc B

Ans- UATETT fEEEw

38. The statement describing what has happened is called
Ans- Report

S g ¥ IEE A . e S @

Ans- frté
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38. The statement describing what has happened is called

Ans- Heport

S EW R 3EeT avie .. &Er e R

Ans- TTTE

39, An automatic toaster is a loap control system,

Ans- Open

UF Fadifed el U .. ... J9 g gor g

Ans- 3o

40. An can detect Infrared radiation that is not visible with naked eyes. A body

when heated radiates infrared light which can be detected by IR Sensor.
Ans- IR Sensor

e OF TR IRBCUA FT 9T I EERAT & S e wEt @ Red af ar §)
T FT A A & & oF HatEd vy & IRvE aon @ TSR e gEm uar
AT ST wET £l

Ans- ¥TEHT BET
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1.1 Which of the Following is a protocol related to loT
Ans- CoAP

1.1 Frafaa # & Fi5 10TH #afla °F STHE §
Ans- 17

1.2 Requests package is very popular Library.
Ans- HTTP

12 A OFF aga Feg . SRR E

Ans- HTTF

1.3 The default method(s) in Arduino program is/are
Ans- setup() and loop()

1.3 Arduine SR 3 Rrefez faft(@h) &

Ans- setup() and loopl)

1.4 Self-awareness is an important self-assessment tools to determing

Ans- The way you perceive yourself, _

1.4 WeR-sTET PURA o & AT oF ATt Hen-HEaEet IR
Ans- o g & 5 Oz W pT 8

1.5 Arduino is called written with 1DE Programe?

Ans- Sketch

1.5 Arduine & TRT IDE & 71U A8 av v WiotA FT W 5w
Ans- 75

1.6 With respect to the body language, the handshake conveys the confidence is
Ans- Firm

1.6 o7 1 9w & Few A gEw frvaw wued sar |

Ans- =3

1.7 What does IDE stand for?

Ans- Integrated Development Environment
17inER @ ¥ Fm &

Ans- #fdty bramir smEEaE

1.8 In which of these, more than one candidate is interviewed?
Ans- The group interview

1858 ¥ F A s it & saneen o s
Ans- 7 FETEET

1.9 Which of the following communication medium supports highest data rate
Ans- Optical fiber

1.3 F=RfET & @ 19 @ §O0 AT ITaaA 32 & & GHGA ST &
Ans- ¥rES wTEE

1.10 Which layer represents how various devices are physically connected to the network
Ans- Physical

toFa AR i g F RAMm R aas ARG wmasa g L

Ans- friwa

2. Each stalement be'cw i either TRUE or FALSE,
1 fan s vl fraeer ar @ wf @ oaEE @ (1x00=10)

211 "Transceivers' allows the "things” to communicate with other devices over the
network using different communication technologies (Wi-Fi, ZigBee, SigFox etc.)
A) TRUE
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211 AT R FaN aeeet @i B et ) a7 swde a0 derd
9 3T IEt F a dan w e F e e & el o
A) a1

2.12. The total resistance of resistor is low when connected in series.
A) TRUE

212 MTS A FF P W IMIUF T FF 9000 F @ §

A) T

2.13. The delay() causes the Arduino to wait for the specified number of milliseconds
before continuing on to the next line.

A) TRUE

213 delay() T 9fFA & Al @R & UER Ardvine F Wi dEm & B @ & wedler
T T T FA4T B

A) @3

2.14. NB-10T stands for Narrow Band Internet of Things, is an LPWAN Le. Low Power Wide
Area Network technology used for applications requiring low power consumption.

A) TRUE

214 NBOT # Hawd a1 33 erte i [ & fRv L os LpwaN ol & 9rag amse
oftan Jead === & 39O &A faa & gug & fav e a1 feaT £

I

215. In ATmega328p, p stands for pico power.
A) TRUE
215 ATmegad2sp &, p T wmay & fAv w23 w101 ¥

LG

2.16. Every Internet of Things design should start with security. Firms should Incorporate
security into the initial design process.

A) TRUE

216 THF FTeiT Hw fre B 7 goen & W iy s o) ot @t s
smifivr Romsa sfirmr & goan o oy vy @ wfeafam s ot

A) I

2.17. A smoke sensor is a device that senses smoke (airborne particulates & gases), and it's
level

A) TRUE

217 UF T A8 0F 09 399007 § S OU (UOE eitgee SN AWM MR AR AR @
o4 A O 3999 A W E

A) T

2.18. There are two required functions in an Arduino sketch, setup() and loop().
A) TRUE

218 UF Arduins F6HT u'lurl}}h hnﬂlﬂ' FAE I b or o FFIA Rl

A) T

2.19. To move data from ene point to another, the Transport Layer places it In "packets®
which it then delivers

A) TRUE

210 T 0F g A A A WA TN F R i am @ 4R S we LR
ag @ B & g

A) T

220 Z-Wave is a communication protocol spedally designed for Home Automation
products and it is also known as a low-power RF communications technology.

A) TRUE

220 AT UF FOR OEEA § O T w1 R i Aidie IewEl & e Boga B o
s FrsRA ymrr FAR sk S wm A MrFwm A &

A) T
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21. What is the sensor/protocol used in GSN.
Ans- CoAl protocol
GSN# water far 3wt asn #ausesia 7497 £

Ans- CoAP SEt=Tol

22. 'Personality” comes [rom the Latin persona, meaning
Ans- mask
‘Personality' 2fea persona @ ¥mar g, o wd ¢

Ans- HTEH
23. The loT operates at which scale.

Ans- Machine
107 fFw doet 9T d@=iled 29 &

Ans- mife

24. Which board is first to use microcontroller within build USH?

Ans- Leonardo
Usp == & fav gad g #1987 @2 AEFEgIE & 39T &9

Ans- Targtarst
25. Which pressure standard is used for pauge.

Ans- Manometer
7 & AU 5w zamm AaF® &1 3o fEar s

Ans- Manometer

26. The best describes the MQTT protocol
Ans- Request/Response
I HEOT MQTT WIFid & ava F1a7 ¢

Ans- aeefeaee

27.1tis a set of technologies and protocols that are used primarily in wired LANs,

Ans- Fthernet
wmm}hmmwﬂzgmgmm;?MMNmmﬁm

ST B

Ans- 3uTAT

28. PWM pins in Arduino UNOD,
Ans- &
Arduino UNO A pwWM O &7ar @

Ans- 6

29, The Mroximity sensor detects metal objects and also indicated level
Ans- Inductive Proximity Sensor

Frrear o urg 1 g 1 o s @O a¥E wom
Ans- 3=fFeT W EHES dw¢
an. are pre built circuit boards that fit on top of Android.

Ans- Sheilds
o G TATE Wbz atd € S OETeE & O or fie B E

Ans- ez
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31. Personality is derved from Latin word - persona meaning

Ans- Mask

Personality 2= = & f&ar 7ar & - persona 3@ E:: . SR

Ans- FTER

32, Servo motors are peared DC motors with the clrcuitry incorporated within
them

Ans- Closed-loop

wat sed @ Snf sed a9 w R arer & et L afh wfae el
Ans- F 1789

JiA is an example of an open loop control system.

Ans- washing machine
........ TF S T age R & oF SEe )

Ans- afimr 7=

34 The interconnection topologies are implemented using as anode.

Ans- Microprocessor

TTFATUA AT F AR F OFT A ... FT ITANT FIF FAId FFAT F0ET 2
Ans- FTESFNTHAT

35. The computer devices and smart phones that have
Ans- Touch screen

with pressure sensor.

Fegey Ivee WY wne e et L g & S gEw e F o e )
Ans- TT T
36, is medium weighted extension of cloud computing in loT domain.

Ans- Fog Computing
e WS 2 A @I Fgfiar @ Avgw wifE RwEr)

Ans- T @Fefed

37. __ Returns the number of microseconds since the Arduino board began running the
current program

Ans- micros()
e Arduing W2 T WA TR F T { AHFEHFUS B g S g

Ans- micros()
38. The discrete levels available are

Ans- Levels
ITEET WA T . €

Ans- #d=y

39, Exploring and analyzing oplions is a part of
Ans- Decision Making
feat &1 @t 3t Tawor F1 UF REAT £

Ans- s AfF

40. __ detects metals but along with it can also detect resins, liquids.

Ans- Capacitive Proximity

_______ UTHT &1 GAT §0aT § S 30 W10 €1 T8 1o, 809 vgnd &7 o7 e &9
HFAT £

Ans- Fofafes wifFafad
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11 tags. devices. smart phones useful in identification.
Ans- RFID/NFC

1.1 TFTW & STar . & Baww, we o)

Ans- RFIDINFC

1.2 Which sensor is linear and low accuracy?
Ans- Semiconductor based sensor

1287 @ W O W &5 785 B
Ans. #irEEEeT &vm AW

1.3 Which Protocol interacts asynchranously over UDF?
Ans- CoAP

13FF & SEFEE UDF S FeaHiaE ¥ A STE AT ¢

Ans- CoAF

14 allows us to monitor the application.
Ans- Actuators
14, . ©% oiRadem @ R w6 & sepfa & §)

Ans- UagquUed

15 PIP standsfor

Ans- ["ackage Management System
15 rp# qot F9 §

Ans- T fa M

1.6 The analog signalis __ in___
Ans- Continuous, ime

16 TR A L /o B
Ans. wifefaam, mEn

1.7 What does VNC stand for:
Ans- Virtual Network Computing
1.7 VNC & oot ¥ B

Ans- FHA AzEE S

1.B Which type of motion is transmitted by hydraulic actuators?

Ans- bothaand b
1.8 frm ger &Y 7 # gfas orggees g e B s B
Ans- a T b

1.9 Which sensor measures the pressure relative to perfect vacuum?
Ans- Absolute pressure sensor

1.9 FA F AW w0 &3gA & A Zan @ A
Ans- TETFLT I AAC

1.10 Whatis DS188207
Ans- Temperature sensor
1.10 DS 1B F47 &)

Ans- @9ETH #ET

2. Each siaterment below is either TRUE ar FALSE
et B o w s g o &t /8 @ WA £ (1x10=10)

2.11. Gas sensors are specifically used to monitor changes of the air quality and detect the

presence of various gases.
A) TRUE
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211 N\ 3w A w0 @ Fan A qurEeEr A oiEds & [an iR [T a8
sufeufa & 9ar wama & fAv I9anT e s B
Ay FeE

2.12. Health information is collected from all the beans implementing Health Indicator
interface.

A) TRUE
212 ¥ou ke gTUhE W AN A A @ dew A Fowem Sl oy ol R
A} wiea

2.13. Time management is the process of planning the hest way to organize the things.
A) TRUE

213 AT SEuA T Y coaftyd o F waes 0 & armer Tan i ofemr g
A} Ty

2.14. Positive self-talk is saying positive things about yourself to yourself.
A) TRUE
214 WoieT Hew T # W I A A FEOAF a0 T & T 8

A) wem

2.15. loT devices require secure identifiers - such as serial numbers - that can be traced
hack to the device manufacturer and uniquely identify devices.

A) TRUE

215 T 3960t #) WA gramEant & ymnaea 8@ b - 38 B dfaw de - SR
o e it Rfirr oo @@ 39w 97 amE @ 71 T B

A) e

2.16. A hydraulic actuators consists of a cylinder or fluid motor that used hydraulic power
to facilitate mechanical operation,

A) TRUE

216 AT vacgued A oF REm ar g7 A @ ¢ S AN gt @
ghausaF T F fAv gEeifes oy & 39unT & g

A) F

2.17. Amechanical actuator converts rotary motion into linear metion to execute some
movement.

A) TRUE

217 v Tfw Ul del wfd & 7o afy w fFwafa s R s i
gftafiia #4ar g

A) TE

218 Arduino program statement lar generating one second delay is - delay(100);
B) FALSE

2,18 UF #93 2 7w 61 F BT Acuino T 5 FTAT § delayi100)

B) Waew

2.19. Microprocessor has only processing capability, no serial interface or interrupts are
available.

A) TRUE

2,10 AEEET & Faw AT auar &N e fordy o gere Iueey A R

Ay 7

2.20. A Windows of a smart home can receive an automatic command to open or close
depending on the forecasts taken from the weather department

A) TRUE
z.znﬂnﬁmmﬂﬁvmﬁgxﬂ#mwm&ﬂnmmﬁﬁmmﬁa
FATE F TaA 1 9% T+ & (@0 W 5 551 £l

A} &4
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21. Which endpoint shows application health information?
Ans- health
Ftar @ waa fag anqwEr warew swad o @

Ans- arﬂ
22. Itis the sum of our own ideas, opinions, and feelings about ourselves.

Ans- Sclf-esteem

TE FAN 39 3O faunt i gg & 9t & sraeArs & O g
Ans- HTcH HFATA
23. is a community that is working together Lo establish an loT architecture.

Ans- Eclipse loT

.. TF FHEE § S UF 10T IR 1 vuida w6 & fov feet a0 o
£l
24 The special feature of a closed loop control system is,

Ans- Feedback

UF Fdlos |9 fAaaer quret f v R kv )
Ans- mﬂiﬁ
25. Most devastating loss to a company is....

Ans- Loss of data

TF Fu & AU 7 Femed geae g
Ans—g'dTiﬁ'FTﬁT

26 It configures the reference voltage used for analog input.
Ans- analogReference()

TAENT FAYE & AU 39 T e e R dieed i e ST ©

Ans- analogReference()

27. The feature of the multismicroprocessor architecture is.
Ans- Task dependent

Fel-AEENTaa] Wieeaay & e §
Ans- TFF BURET

28. It acts as source for IR radiation.
Ans- IR Transmitter

4

hmm it s s wmAFdE I
Ans. ITEHTT TTEART

249, Function called once in Arduino program.

Ans- Sctup()

Arduino F1ITH # UF R TG AW A G
Ans- Sctup()

30. It returns the number of microseconds since the Arduino board began running the
current program.

Ans- micros()

Arduino T ST g & arg § AnEdadvs & e dtean g

Ao il Y
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3L calculates the minimum of two numbers and returns the smaller of the two
numbers

Ana- min()

....... &t Y Fgaes v aeen § R & At A @ o Rt &ar g

Ans. min()

3211 the pinis configured as an INPUT, will enable (HIGH) or disable (LOW)
the internal pull-up on the input pin.

Ans- digitalWrite()

ofe fom & INPUT & 9 & s B mar A digitalWrite() 59E e @
AT Q-39 & WEW (F73) a1 HETH (W) FaEm

Ans. digitalWrite()

33, The statement describing what has happened is called

Ans- Report

:«l’rgtmﬁ'mauﬂw. ... .. g AT E

Ans- e

34. The term Internet of Things was first coined by

Ans- Kevin Ashiton

TeTAe HiE f e wE@ 9w ... AT WY I

Ans. Hfas v

35 standsfor Light Dependent Resistor or Phato-resistor, which is a passive
electronic component.

Ans- LDR
e T NG € wrd Yz AR @ SRR S vw PSR sdeofw uew

gl
Ans- UFEIHIT

36. The founder of Arduino projectis
Ans- Massimo Banzi

Arduino WISEZ & HEUGEF ... EI
Ans- ATTEAT a7
37 A is thermally sensitive resistor that exhibits a large change in resistance.

Ans- Thermistor

TF ... . UAT 8 3E0uF ¢ S ofany F 72 oftade Fv w2l &
Ans. ¥ATEET

34, calculates the absolute value of a number,

Ans- abs()

......... ol woar & vawege &g & s a5 §

Ans- abhs()

39. Time management is important to .
Ans- [Everyone

AT WEUA ¥ v mgeagt
Ans- Hed®
40. board of Arduino family can be used to sewn into clothing.
Ans- Lilypad
121 = S FET I g

6
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